
�� ��� ��� ��
	� 
��
 �� ����� � � � ��� � ���� ��
�
�� � �� � �  ! "# � $% &' (
)*++ ���	
 ,- �./0

12 �� 3 415 � �6 78
 9:7;
 � ���

<=> ? @ A
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . BCD E FG HI FJ? K=L M N��O � � PQRS&

7� �1TU 6 �V �6 � 	W �/2 � � � ��7� � XY � � �� �. � �	6 � Z6 [\n ≥ ]^_ 1� � �70 ���� n 9. . . 9, 9) � � 1TU 6 �V Z6
470 �� �`0 �� 1�W �a � � 	b � 9c�
 �� �
 d
a �� �� �.� � 	6 � Z6 [7� � �7� � �	5 c� 	� 1Te �f
 �g� ��

[70 �� lg n
�� �7� � �� h5 �7i j�
k \)

[70 �� ) XY � � �� �
`
 	l� � � 	� mn`a � \,
\7/0 �� �70 o�	
 � �
�W o��	� �� �� �.� � �6 � � �p 2 � 1� �� �� qr � �_ [70 �� � �
�W \*

[7� � �7� d
a �� �.� � 	6 � nf W � �� 1Tb � �V � � ���� � � �T �� 7�/� 1� �s

<=> ? @ A
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . FJL M E FG t u=v Nw� x � PQRS&

��
k k
�� ) �� ��72 � �� XY � �� y�6 X �
 ` � 	b � c� 6
b �. 6 �zk �� G [76	�U � 	{ � � � �� G X�� �� � 7/ . � � m �	b

[\1� � XY � �� y�6 ��� ��72 � |� V 	�} 
 Z6 X�� _ 70 �� �`~ 6 � �� � � 	� �� � 	�} 
 �6	� X�� c� �� �	� � ��X��
c(G)

�� G �� �� 7/ .� � � � �l �

 �6	� ��g� \�
�� ��7� � _ �� �7� � [70 �� �. 6 �zk 9G �� c6	�b �
 k
�6	`� � �� k(G)

[76	�U �
[1� � k(G) < c(G) 9G 7/.�� m �	b 	� � �� � �� 7�/� 1� �s

<=> ? � A
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . E� uKu �� u=� H�� �� Nw%� �PQRS&

	l� n �6 � � � Z6 	� [7� ��70 �� ��b �� ��0 n
�� ) ��72 � �� 	l � n �6 � [7� ��70 d �� `� � �� ��� Z6 � � � �� � �	� 	l� n

[1� � { �, . . . , m}
� � � ��2 
�� 
	6 � 1��� �5 �2 
��
 	� [�� �� �� 1��� �5 � � � ��2 
��


a
�	� 	b � �� ��
k �� 1� � �� �� � ��	� � �p � � �� �� � � Z6 X��� 1.} � � �	� �0 �� 9�� �� � o� �	
 ��} �� Z6
[\70 �� �~6 76 �.� X �T 6 �� 1��� �5 �2 
�� 
 _ 70 �� a ��� 1��� �5 �	� ��2 
��
 	6� 76 �� b ��� 1��� �5 970 �� b �	� ��� ��� �� � �U / � �� � �~ / 6 � � �	 � [70 �� �` 0 �7� �} � � � 	b � 1� � 70 � � 	 6 7
 �	 � Z 6 9�� �� � o � �	 
 �� } � � Z 6 � �

[7/0 �� �/��� 70 � � X �	6 7
 ��7�� c�� �
a �
 70 �� 	� 1i ��
��} � � Z6 9��	 � � � �� � � �� 1� � � �5 � �2 
� � 
 �` � 	b �� �� 7� / � �� �� �O(mn)

� � � �	V � X�
 � �� �� ` 6 �
U � �
��� � � �� ��0 :� i �72 470 �� �72 n 76 �� c`6 �
U � � �V �	a [�� �� �� 70 � � 	6 7
 ��7�� �6	`�� �� 7� ��� �� ��� o� �	


[�� �7� �} �� � � � 	b � 1� � 	lW �6 91� � i �	�1� �6 � � �� y �
� �	� � , � 	�� �7i c`6 �
U � � �6 �� �� �� �`} � 970 �.� O(mn) X �̀ � `6 �
U � � � �	V � X�
 � �� ���
W � �
[7�/� �
�7�0 �� ��

 �

)


